[ Efficiency vs vertpos |

0.9f--{-F-1-2F-1- k- T4

0.8

1072

10

1

10 0
TP vertr (cr%)

2

Efficiend

—— DQM_TT__CKF_ORIG
—— DQM_TT__CKFLowWPtT_ORIG
—— DQM_TT__CKFLowPtT_MODIF

~ 0.8

o
]

©
o2}

o
&)

efficiency vs ver
o © © o
P N [ N

o

Ratio
=

o
©

2
0

10
TP vert

[ Efficiency vs. sim PV z |

~ 0.2

20

z (cm)

>
8018
£
50.16
20.14F
oy
20.12
0.1
0.08
0.06
0.04F

0.02F

e

effic

.......

.......

.......

..................................

..................................

...............................

......

......

......

Ratio
=

SRS L
FL [
-10 -5 O

Sim. PV

5 10 15 20

z (cm)

30




	Contents
	Page 1


